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38. By symmetry, the length of the curve in each quadrant is the same, 1.1

so we’ll find the length in the first quadrant and multiply by 4.
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Now from the graph, we see that as k increases, the “corners” of these fat circles get closer to the points (+1,+1)
and (£1, ¥1), and the “edges” of the fat circles approach the lines joining these four points. It seems plausible thal
as k — oo, the total length of the fat circle with n = 2k will approach the length of the perimeter of the square with
sides of length 2. This is supported by taking the limit as k — oo of the equation of the fat circle in the first
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But we know that this integral diverges, so the area S is infinite.
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